Please typeset the solution with appropriate math symbol editor.  Please, no stuff like “<=”

I’ve provided the answer already.  Please show how you arrive at the answer.

Use words in your solution process.  

If you use a computer, please include the details of that work as well.
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The standard deviation of the breaking strengths of certain cables produced by a company is given as
2401b. After a change was introduced in the process of manufacture of these cables, the breaking strengths
of a sample of 8 cables showed a standard deviation of 3001b. Investigate the significance of the apparent
increase in variability, using a significance level of (a) 0.05, (b) 0.01.




answer:

[image: image2.png]7.84. The apparent increase in variability is not significant at either level.




